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1. What must the man do according to the woman’s advice?
A. Present a different theory to the class.
B. Read an article on political science.
C. Read more than one article.
2. What can be inferred about the man? .
A. He hasn’t finished preparing for his speech.
B. He doesn’t know anything about engineering.
C. He regularly gives talks to high school students.
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3. What will the man probably do?
A. Turn the music off.
B. Play a different style of music.
"C. Turn down the volume of the music.
4. What does the woman imply?
A. She doesn’t have time to work in a garden.
B. She’ll consider the man’s invitation.
C. She doesn’t want to join a gardening club.
5. What will the man probably do?
A. Sell his literature books to the woman.
B. Keep his books from the literature class.
C. Return his literature books to the bookstore.
(D)W S xR, |/
6. W: Wow! The score is 65:67 Lakers.
M: Come on! Rockets is striking back. He who smiles last smiles best.
7. W: Why do some people stay in one job for life while others switch jobs from time to time?
M: Some people want a fixed routine so that they don’t have to adapt to new circumstances over

and over again, while others think is the spice of life.
8. M: When do you plan to make the to your classmates about the activity?
W: Early next week.
9. M: Green pepper has a very flavour. Some people really like it.

W: So it must be picked really young.
10. W: Shall we run around the park or go for a bike ride?
M: It to me. They are both good activities.
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1. Where is the woman now?

A. In an army. ©B. In an office. C. In a restaurant.
2. Where does the conversation most probably take place?
A. In a restaurant. B. In an office. C. At home.
3. Where is the man going?
A. To the class. B. To the library. C. To the movies.
4. Where does the woman have to get off?
A. At the Bank of China. B. At the post office. C. At the next stop.
5. Where does the woman want to go? '
A. To Grand Hotel. B. To the shopping centre.  C. To the subway station.



6. Where does the conversation most probably take place?

A, At a bus stop. B. At a railway station. C. On a bus.
7. Where is the man going to plant the tree?

A. By the front door. B. At the back of the garage. C. At the other end of the garden.
8. Where are the two people?

A.Inacar. B. In a restaurant. C. In the street.

9. What does the man mean?
A. They can’t afford to stay at the hotel.
B. They do not want to stay at a hotel.
C. He doesn’t like the hotel.

10. What can we learn from the conversation?

A. The man didn’t have a good time because of the different weather.
B. The man visited Australia during the summer vacation.
C. The man went to Australia during Christmas.

/"\\ Listening

Test o
~SectionC BT A1illZR

— EEk

E—F 5N BE15 S, BRTSH) ,
WrhE 5 B, MBEEE —ANMME, AEFHEKN AL B. C EMEHPEHE
BRI, HARERBNMENAE. WESBRAIEE, REF 10 Do aRESH %/MER
BIE T —/DE. BXHEE—E.
1. What is the woman’s attitude toward spoken English?
A. She isn’t interested in spoken English.
B. She is fond of spoken English.
C. She thinks spoken English is useful.
2. Where does the conversation most probably take place?
A. In a restaurant. B. In an office. . C. At home.
3. How many languages can the woman speak besides English?
A. 7 languages. B. 8 languages. C. 9 languages.
4. Why does the woman want to go to America?
A. To attend a conference. B. To take language courses. C. To visit some friends.
5. What do we know about Robert?
A. He is a student of the music department.
B. He has made great progress in his English.
C. He is not very enthusiastic about his English lessons.
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6. What’s the most probable relationship between the two speakers?

A. Friends. B. Strangers. C. Colleagues.
7. Where does the conversation take place?
A. On abus. B. On a train. C. On a plane.

WrsE 7 Bkl BIER 8 E 10 .
8. Why is it easier for the woman to learn English?
A. She often talks to English people.
' B. She already speaks two languages.
C. She always does her homework right after class.
9. Which of the following is suggested by the woman to be a good way of learning English?
A. Reading newspapers. B. Writing diaries. C. Reading aloud in the morning.
10. Why is it difficult for the man to learn English?
A. There are no native speakers around him.
B. He doesn’t talk to his English teacher.
C. He is too shy to speak English.
W5 8 Bbikt, RIS 11 £ 13 &.
11. What does the woman do?
A. She is an English teacher.  B. She is an English student. C. She is a Chinese teacher.
12. What languages can the woman speak? |
A. English and Japanese. . =~ B. English and Chinese. C. Japanese and Chinese.
13. Why does the woman like to live in China?
A. She enjoys the scenery there.
B. She likes the Chinese food.
C. She likes the people there.
WrEE 9 Bubtkl, [EIESRE 14 F 16 &.
14. Who is the woman talking to?

A. A student. B. A teacher. C. A secretary.
15. What does the man say about Frank?
A. He is quiet. B. He is active. C. He is honest.

16. What does the woman think good students should be like?
A. They should ask questions. ‘
B. They should pay attention in class.
C. They should not be afraid of making mistakes.
WSS 10 Btk BB 17 20 &
17. What is the characteristic of learners of special English?
A. They know clearly what they want to learn.



B. They learn English to find well-paid jobs.
C. They want to have an up-to-date knowledge of English.
18. Who needs ESP courses most?
A. Professionals.
B. College students.
C. Intermediate learners.
19. What are the most popular ESP courses in Britain?
A. Courses for doctors.
B. Courses for businessmen.
C. Courses for lawyers.
20. What is the speaker mainly talking about?
A. Three groups of learners.
B. The importance of business English.
C. English for Specific Purposes.
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1. Where is Mark now?
A. At the office.
B. On his way to the office.
C. On his way to Guangzhou University.
2. What does the man want to drink?
A. Cold coffee and tea. B. Hot coffee and tea. C. Coffee but not tea.
3. What does the man mean?
A. He’s always wanted to climb that mountain.
B. He went mountain climbing last year.
C. He does not want to go mountain climbing.
4. What does the man mean?
A. The new teacher is sick.
B. He hasn’t met the teacher yet.
C. There are three new teachers.
5. What is the probable relationship between the two speakers?
A. Teacher and student. B. Doctor and patient. C. Husband and wife.
E-HEE 12/ BE15S, #HHD187) |
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6. Why does the man make a phone call to the post office?
A. His package has been lost.
B. The service in Dallas office is very poor.
C. The package he posted hasn’t been received.
7. How much money did the man spend in posting the package?
A. $84. B. $48. C. $28.
8. What does the woman promise to do?
A. Solve the problem.
B. Make up the money.
C. Phone Federal Express.
\ WrsE 7 BektRl, B 9 2= 11 .
'/%‘\‘ 9. Why will the woman move to Boswell?

; A. Boswell is a nicer town.

& B. They will start a new company there.

fx C. Her husband has found a better job there.

% 10. What will the woman probably work as when they have settled in Boswell?

% A. A housewife. B. A teacher. C. A clerk.

é}f‘? 11. What is the probable relationship between the two speakers?

i 4 A. Friends. B. Teacher and student. C. Father and daughter.

WrEE 8 Bkl [EIEHE 12 E 14 B
12. Why does the man come into the room?
A. He works there.
B. He wants to talk to Kate.
C. He wants to have a letter typed.
13. What is Jane doing at that time?
A. Taking a rest. B. Preparing for an exam.  C. Taking an exam.
14. What will the woman do next year?
A. Go to Japan. B. Change her job: C. Go to night school.
W 9 BeAtkl, [EIESR 15 2 17 &,
15. What is the most probable relationship between the two speakers?
A. Friends.
B. Teacher and student.
C. Boss and employee.
16. What is the woman interested in?
A. Literature. B. Chemistry. C. Physics.
17. What is the man’s attitude towards physics and literature?
A. Literature is not so useful as physics.
B. Physics is not so useful as literature.
C. Literature is as useful as physics.
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The Open University in Britain

Education is given by means of television, radio, and correspondence courses. -

By August 1970, it had received 18. applications, but only 24,000 could be accepted.

Its four introductory courses are social sciences, arts, sciences and mathematics.

Its first class was attended by clerks, farm workers, 19. , teachers and policemen.

Its method of promoting education is probably the cheapest and most 20.
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circular direct encounter profound mission
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organisational post chef require renewable
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suffer pathologist double leisure individual
: fitness outgoing personality

in particular on average in theory in practice
pass by take...for granted have an effect on take up

take notice of in response to
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e ...can’t have done...
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1. What do the speakers imply about Sally?
A. She has a lot of energy.
B. She’s amusing.
C. She should spend more time on her studies.



2. What doesn’t the man like? . :
A. Italian painting, . B. Modern painting.. C. Traditional painting. .

3. What can we learn from the conversation?
A. The man is returning his ticket.
B. The man is flying to New York tomorrow morning.
C. The man can’t manage to go to New York as planned.

4. What does the man mean?
A. The physics class is only halfway over.
B. The students aren’t in good physical condition.
C. He doesn’t believe everything people say.

5. What do we know about the man?
A. He enjoys reading letters.
B. He is working for a company.
C. He has been job-hunting.

(D)WTmE 5 BxtiE, HE. C )

6. M: Well, uh...Thank you very much for offering me a job. But now I’ve received a notice

of admission to a Master’s degree programme in my university. I’'m afraid I have to leave.

W: Oh, what a pity! You did an excellent job here, and everyone likes you.

7. M: People are frightened of lots and lots of different things. Are you frightened of anything

?

W: Well, I’'m afraid of dogs.

8. M: I’ve been checking the want ads every day for a week, but I can’t find anything interesting

that I’'m for. And the few that I have seen are very low-paying.
W: Then try the Internet. You can use a search engine to find a job site related to-your field.
9. W: Well, if we any snakes, you’ll see how loud I can scream.

M: Even if they’re friendly snakes?
W: Yeah, all snakes make my hair stand on end.

10. M: We need managers who know how to be strong, yet know how to give employees their freedom.
W: That’s , especially in the computer industry. Often computer experts like to work

- { Bwoq oM qor v ZomPol | ‘wn) Wik

on their own.

WTE 10 B3HE, EFEsERT GER iTlE'qJFﬁ:bF&Eﬁﬂ%) o
1. How many tickets are left now?
A. More than 18,000. B. About 20,000. C. Fewer than 2,000.
2. How many swimming classes are there this semester?
A. 14, B.9S. C.5.
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3. How far does the man run every day?

A. 5 kilometres. B. 10 kilometres. C. 15 kilometres.
4. About how many people will come to watch the World Cup Final?
A. More than 20. B. 15 to 20. C.6.
S. How many people are likely to enter for this year’s City Marathon?
A.215. B. 430. C. 500.
6. What time is it now?
A. 4:55. B. 5:00. C.5:15.
7. When is the man’s meeting?
A. 7 o’clock. B. 8 o’clock. C. 9 o’clock.
8. At what time are they going to eat?
A. 11:00. B. 12:00. C. Around 12:30.
9. What time does the woman suggest meeting Dr. Smith?
A. 5:00, October 25th. B. 5:00, Saturday. C. 5:30, Saturday.
10. When was Einstein born? '
A. On May 14, 1869. B. On March 14, 1879. C. On April 18, 1955.
) /ﬁ\\ Listening
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1. What is the man?
A. A teacher. B. A student. C. A writer.
2. Who is the man possibly talking to?
A. A doctor. B. A teacher. C. A policewoman.

3. What do we know about Sam?

A. His sister will leave for New York.

B. His sister will leave for Los Angeles.

C. He will leave New York.
4. Who is the woman most probably talking to?

A. A railway porter. B. A bus conductor. C. A postal clerk.
5. What can we learn from the conversation? ‘

A. The man had expected the experiment to be easier.



B. The man thought the experiment was well done.
C. The man finished the experiment last night.
W G5 BNE5 S, WS 22549)
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6. Why did the man tell the woman to turn to these television repairmen?
A. The shop was easy to find. '
B. One of the repairmen was his friend.
C. The repairmen did good work and the price was reasonable.
7. Why couldn’t the woman find the repair shop?
A. She missed the right turn.
B. The man gave her wrong directions.
C. She was a bad driver.
8. Whom do you think the woman was angry with?
A. The man. B. The repairman. C. The shopkeeper.
WrsE 7 Bobbel, EIEEOE 11 M.
9. Where is probably Miss Smith?

A. She is at home. B. She is in her office. C. She is in the meeting room.
10. When should Miss Smith call back?

A. On Wednesday. B. On Thursday. C. On Friday.
11. What number should Miss Smith call?

A. 8028714-246. B. 8029714-246. C. 9028741-426.

Wrs 8 Brbteh, [EIE5 12 % 14 .
12. Who are the speakers?

A. Students. B. Teachers. C. Clerks.
13. What are the speakers mainly talking about?
A. Noise in the office. B. A new meeting room. C. A workmate.
14. What does the man suggest they do?
A. Talk to Jack openly. B. Move to another office. ~ C. Ask for a meeting room.

WrsE 9 BbbRL, [EIESE 15 = 17 .
15. Why does the woman do her supermarket job?
A. To earn money for school.
B. To get exercise while working.
C. To keep her family’s yard looking nice.
16. What does the man not like about his job?
A. He has to work too many hours.
B. He doesn’t earn very much money.
C. He sometimes has to work in bad weather.
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17. What is the man going to do next?
A. Finish his homework. B. Plant trees. C. Cut grass.
UrEE 10 Bobbel, [E%5E 18 = 20 &, :

18. How many of American workers were farmers two hundred years ago?

A. Eighty-five percent. - B. Ninety-four percent. C. Ninety-five percent.
19. How many other people does each American farmer grow enough to feed?
A. Seventy-eight. B. Thirty-eight. C. Ninety-eight.

20. Why can American farmers produce more today than before?
A. They learn about the weather, soil, harmful insects and plant and animal diseases.
B. They learn about international trade and computers.
C. They use modern farming and business methods.
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1. When will the two speakers have dinner together?

A. On Sunday. B. On Thursday. C. On Tuesday.
2. What is the relationship between the two speakers? C
A, Teacher and student. B. Father and daughter. =~ C. Brother and sister.
3. At what time does the conversation take place?
A. 11:30. B. 11:45. C. 12:15.
4. Which blouse does the man prefer? : . -
A. The blue one. - B. The yellow one. C. The white one.

5. What does the woman mean?
A. She is busy now.
B. If the line is busy, he should dial later.
C. She can’t reach the operator either.
EoH (L5 /0EE: |5 S, WS 225 97)
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6. Where did the man go?

A. To the library. B. To the chemistry lab. C. To the post office.
7. How far is it from the post office to the school?

A. It’s 13 minutes’ walk. B. It’s 30 minutes’ walk. C. It’s 13 minutes’ ride.
8. Why can’t the woman go there herself? ' ‘ '

A. The post office was too far away.

B. She was busy at that time.

C. She failed in the English exam and she was sad.



